INDICATORS
1280 Enterprise Wall Enclosure

Part Number/Price

Part# Description Price

RICE LAKE

WEIGHING SYSTEMS

164680 | 1280 Indicator sub-assembly (includes 1-29) Consult
1 161416 | Enclosure assembly Consult
2 172840 | Decal, 1280 start screen Consult
3 164120 | Overlay, touchscreen Consult
4 164121 | Overlay, keypad Consult
5 160759 | Board assembly, 1280 HMI interface Consult
6 159280 | Nut, lock nylon insert Consult
7 69898 | Washer, nylon #4 1D 0.112" Consult
8 14626 | Nut, KEP 8-32NC hex Consult
9 15134 | Washer, lock No 8 type A Consult
10 40672 | Wire assembly, ground 9" Consult
11 43383 |Rail, DIN 12.75" length Consult
12 164900 | Back plane panel, 1280 Consult
13 68724 | Gasket, cover Consult
14 71447 | Screw, Mach 1/4 - 28NF x 3/4" Consult
15 71455 | Screw, Mach 1/4 - 28NF x 3/4" Consult
16 71739 | Clip, clinching enclosure Consult
17 14875 | Screw, Mach 10-32NF x 3/8" Consult
18 80590 | Mount, cable tie arrowhead Consult
19 166241 | Cable, antenna extension Consult
20 166634 | Washer, sealing Bartite Consult
21 168098 | Antenna, RP-SMA Consult
22 88733 | Vent, breather sealed Consult
23 88734 | Nut, breather vent Consult
24 124695 | Panel plug, round solid Consult
25 169876 | Cord grip, PG13.5 with nut Consult
26 68600 | Cord grip, PG11 Consult
27 68599 | Seal ring, nylon PG 11 Consult
— 28 68601 | Nut, PG 11, power cord cable Consult
8_ 29 16892 | Label, ground protective Consult
6' 30 165902 | Label Consult
(o] 31 166838 | Bracket assembly, DIN rail Consult
6" 32 168629 | Ground strap, 1280 CPU Consult
a 33 67550 | Clamp, ground cable shield Consult
SN 167701 | Wire, ground 24 #8 eye Consult
Q 173052 Bracket assembly, 1280 (includes 35-36) Consult
S 35  |172860 |Bracket, 1280 wall mount Consult
= 36 173053 | Gasket, 1280 wall mount Consult
g 166694 ' Cable, CPU to HMI Consult
() 166725 Universal display, 500 NITS (includes 38-41)
17 166726 Universal display, 1000 NITS (includes 38-41)
38 164995 | Cable, CPU to display (500 NIT display) Consult
164970 | Cable, CPU to display (1000 NIT display) Consult
39 163400 | 500 NIT display, 7'' LCD Consult
163399 | 1000 NIT display, 7'' LCD Consult
40 162272 | Mounting bracket (500 NIT display) Consult
162271 | Mounting bracket (1000 NIT display) Consult
41 58248 | Nut, lock 6-32NC hex nylon Consult
42 163676 | Controller assembly see page 173 Consult
163787 Parts kit 1280 wall mount (includes 43-44) Consult
43 15631 | Cable tie, 3" nylon Consult
44 169879 | Clip, cord grip PG13.5 Consult
172220 | Plug, 3/8 barb for tubing Consult
45 165111 | Opt, cord US power Consult
46 165112 | Opt, cord Europe Consult

An I1SO 9001 registered company © 2019 Rice Lake Weighing Systems 01/19 Prices and specifications subject to change without notice. Visit ricelake.com for current prices.




INDICATORS
1280 Enterprise Wall Enclosure

Indicators/Controllers

An ISO 9001 registered company © 2019 Rice Lake Weighing Systems 01/19 Prices and specifications subject to change without notice. Visit ricelake.com for current prices. lc LAK
G





